2006

LECL UL LI P T W]

BEFEA AWK
§

ity 1

51

m m m (Hp) (m/s) (%)

PK.U. 32.00 3.00 200 41 175 1~16 10

C.s.u. 17.42 3.66 213 281 50 13~12 10

%nt:;‘il\: 24.38 240 168 — — 0~15.3 —

OxfordU.  14.00 4.00 200 281 — 0~30 —

EPA 18.30 3.70 210 281 100 0-8 05

CPP 2271 3.66 213 — 20 0-9.1 —

RWDI 13.00 240 1.90 — — — —
PK.U. C.su U. of W. Ontario Oxford U. EPA

CPP  Cermak Petreka Petersen

RWDI, Rowan Williams David & Irwin
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i o i (%) (m's) i)(ms) k()
1 NW 1511 4.96 510 160
2 NNW 1340 4.75 5.00 174
3 N 7.64 328 310 172
4 NNE 755 270 245 158

p(v >Vo) = Za(i)exp[—(\/o Ie(i) ]

6 7 8
5 6 8
4 5 8
3 4 8
<1 n <1 n <1 n
31
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it
= Navier-Stokes
u , u__1dp_ d
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| ]
. (DNS)
. (LES)
= Reynolds
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= 0.1><0.1m Reynolds
10um
1012 100us
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Reynolds

N-S
Reynolds

N-S
Reynolds

= CFX

SIMPLE

= FLUENT

FLUENT
60%

ANSYS

= FLOTRAN

CEX  FLUENT

40

CFX

ICCG Line Stone Block Stone

CFD

39
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PR ANSYS

= Standard k-¢ model SKE

= Re-Normalized Group Turbulence model RNG
= Kk-¢ Model dueto Shih NKE

= Nonlinear Model of Girimaji GIR

= Shih, Zhu, Lumley Model SZL

= k- Turbulence Model SKW

Shear Stress Transport Turbulence Model ( SST
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Fluid in a damper

CFRP

= E=200GPa, p=1400kg/m?, L=100m, R=0.1m

= 500MPa
= 200MPa
= 100MPa

z
=
R

(500MPa )

(500MPa )

Animations

(200MPa

E

—+— Steel_200
r —+— CFRP_200

)
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4 (200MPa ) e Water in TLD (L p=2m)

80%
- 0%
- 60%
4l 50%
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- 30%
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4 10%
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